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Q1. (a) (2 5)  ! = (2  × 5)! = 2  ×   5×  2  ×   5 = 2  ×  2   ×   5  ×   5   = 4  ×  5   = 20 
 
 
 
 
 
   
       (b) √!

! !!!√!
  =   √!

! !!!√!
  ×   ! !!!√!

! !!!√!
       (Rationalise) 

                           
    =    !  ×  ! ! !( !  ×  ! !)  

! !
!
! ! !

!         (Multiply the numerator and denominator) 

 
 

                                       =    ! !" !(!  ×  !)  
!"  –  (!  ×   !  ×  !  ×   !)

          (2 5)  ! = 20  (𝑓𝑟𝑜𝑚  𝑝𝑎𝑟𝑡  𝑎) 
 
 =    ! !"  !  !  

!"  – !  ×  !
                       (apply the rule of indices: 𝑎!  ×  𝑎! = 𝑎!! 

                                                                                                             ∴ 2
!
!  ×  2

!
! = 2                       

 
                                                              =    ! !"  !  !  

!"  –!"
  

 
                          =      ! !"  !  !  

!
 

 
                                                          =    !  ( !"  !  !)  

!
                       (factorise the numerator) 

 
                                                          =    10+ 3    
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Q2.      Solve the simultaneous equations.           
 
                    𝑦 − 2𝑥 − 4 = 0                       (Equation 1) 
                   4𝑥! + 𝑦! + 20𝑥   = 0               (Equation 2) 
 

 
⇒         𝑦 = 2𝑥 + 4         (Equation 3: Rearrange equation 1 to obtain equation 3) 
 
⇒         4𝑥! + 2𝑥 + 4 ! + 20𝑥 = 0   (Substitute y value of equ. 3 into equation 2) 
 
⇒         4𝑥! + (4𝑥! + 16𝑥 + 16)+ 20𝑥 = 0 Multiply: 2𝑥 + 4 2𝑥 + 4 =   4𝑥! + 8𝑥 + 8𝑥 + 16    
                                                          4𝑥2 + 16𝑥 + 16 
⇒         8𝑥! +   36𝑥 + 16 = 0     (Bring like terms together to simplify the equation) 
 
⇒         4(2𝑥! +   9𝑥 + 4) = 0     (Factorise the quadratic equation) 
 
⇒         2𝑥! +   9𝑥 + 4 = 0           (Divide the equation by 4 to simplify it) 
 
⇒         2𝑥! +   8𝑥 + 𝑥 + 4 = 0      (Factorise the quadratic equation) 
 
⇒         2𝑥   𝑥 + 4 + 1(𝑥 + 4) = 0 
 
⇒          (2𝑥 + 1)(𝑥 + 4) = 0  (Solve the equation and find the value of 𝑥) 
 
⇒         2𝑥 + 1 = 0                          𝑜𝑟                                          𝑥 + 4 = 0           
 
⇒         2𝑥 = −1                                  𝑜𝑟                                          𝑥 =   −4 
 
⇒         𝑥 = − !

!
                                      𝑜𝑟                                            𝑥 =   −4             

 
⇒         𝑦 = 2   − !

!
+   4                                                    𝑦 = 2 −4 +   4   (Substitute each 𝑥 value into equation 3)           

 
⇒         𝑦 = −1+ 4                                                                          𝑦 =   −8+ 4     
 
⇒         𝑦 = 3                                            𝑜𝑟                                                    𝑦 =   −4   
 
 
 
 

 

𝑥   =   −
1
2 ,      𝑦 = 3 

 
𝑥 =   −4    ,      𝑦 = −4 
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Q3. (a)                                                𝑦 = 4𝑥! − !

!!
     (Linearize the equation) 

 
⇒ 𝑦 = 4𝑥! − 5𝑥!! 

  
                                                            ⇒ !"

!"
= 4  ×  3   ×  𝑥!!! − 5  ×  −2 ×  𝑥!!!!   (Differentiate the equation)  

 
                                                       ⇒ !"

!"
= 12𝑥! − (−10)𝑥!!   (Simplify the equation) 

 
                            ⇒ !"

!"
= 12𝑥! + 10𝑥!! 

 
              ⇒ !"

!"
= 12𝑥! + !"

!!
 

 
 
 
(b)                                                        𝑦 = 4𝑥! − !

!!
     

 

𝑦 𝑑𝑥 

 
                                         ⇒ 4𝑥! − !

!!
𝑑𝑥         (Linearize the equation) 

 

⇒ 4𝑥! − 5𝑥!! 𝑑𝑥 

 
                       ⇒ [ 4𝑥!𝑑𝑥  ]− [ 5𝑥!! 𝑑𝑥]      (Integrate the equation) 

 
                   ⇒ 4  × !!!!

!
− 5  × !!!!!

!!
+ 𝐶     (Simplify the equation) 

 
⇒ 𝑥! + 5𝑥!! + 𝐶  

 

⇒ 𝑥! +
5
𝑥 + 𝐶 
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Q4. (i) A sequence 𝑈!,  𝑈!,𝑈!,…..   is defined by 
            
                                                            𝑈!!! = 2𝑈!!! −   𝑈! 
 
         𝑈! = 4  𝑎𝑛𝑑  𝑈! = 4 
 
 
 
(a)                                                                   𝑈! =   𝑈!!!                       ∴           𝑛 = 1      
 

 
⇒   𝑈!!! = 2𝑈!!! −   𝑈! 

 
⇒ 𝑈!!! = 2𝑈! −   𝑈! (Substitute the value of 𝑈! = 4 and 𝑈! = 4) 

 
⇒ 𝑈!!! = 2×  4−   4 

 
⇒ 𝑈!!! = 8−   4 

 
⇒ 𝑈!!! = 4 

 
⇒ 𝑈! = 4 

 
 
 

(b)        

𝑈!                
!"

!!!

                        ∴       𝑇ℎ𝑖𝑠  𝑚𝑒𝑎𝑛𝑠  𝑠𝑢𝑚  𝑜𝑓  𝑎𝑙𝑙  20  𝑈  𝑡𝑒𝑟𝑚𝑠  𝑓𝑟𝑜𝑚  𝑈!  𝑡𝑜  𝑈!" 

 
 

𝑊𝑒  𝑘𝑛𝑜𝑤  𝑡ℎ𝑎𝑡  𝑈! = 4,𝑈! = 4,𝑈! = 4   
 
∴ 𝑇ℎ𝑖𝑠  𝑒𝑞𝑢𝑎𝑡𝑖𝑜𝑛  𝑈!!! = 2𝑈!!! −   𝑈!  𝑤𝑜𝑢𝑙𝑑  𝑔𝑖𝑣𝑒  𝑎𝑛𝑠𝑤𝑒𝑟  4  𝑓𝑜𝑟  𝑎𝑛𝑦  𝑣𝑎𝑙𝑢𝑒  𝑜𝑓  𝑛   

 
𝐹𝑜𝑟  𝑒𝑥𝑎𝑚𝑝𝑙𝑒: 𝐿𝑒𝑡!𝑠  𝑡𝑟𝑦  𝑈! = 𝑈!!! = 2𝑈! −   𝑈! = 2×  4 − 4 = 8− 4 = 4   

 
∴   𝑈! = 4 

 

𝐻𝑒𝑛𝑐𝑒, 𝑈!                
!"

!!!

= 20  ×  4 = 80     
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(ii) Another sequence 𝑉!,  𝑉!,𝑉!,…..is defined by 
 

𝑉!!! = 2𝑉!!! −   𝑉! 
𝑉! = 𝑘          𝑎𝑛𝑑      𝑉! = 2𝑘 where 𝑘 is a constant 

 
(a)                                                                  𝑉! =   𝑉!!!                       ∴           𝑛 = 1 
 

⇒   𝑉!!! = 2𝑉!!! −   𝑉! 
 

⇒ 𝑉!!! = 2𝑉! −   𝑉! 
 

⇒ 𝑉!!! = 2(2𝑘)−   𝑘 
 

⇒ 𝑉!!! = 4𝑘 −   𝑘 
 

⇒ 𝑉!!! = 3𝑘 
 

⇒ 𝑉! = 3𝑘 
 
 
 
 
 
 

                        𝑉! =   𝑉!!!                       ∴           𝑛 = 2 
 

⇒   𝑉!!! = 2𝑉!!! −   𝑉! 
 

⇒ 𝑉!!! = 2𝑉! −   𝑉! 
 

⇒ 𝑉!!! = 2(3𝑘)−   2𝑘 
 

⇒ 𝑉!!! = 6𝑘 −   2𝑘 
 

⇒ 𝑉!!! = 4𝑘 
 

⇒ 𝑉! = 4𝑘 
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(b) Given that    
 

𝑉!     = 165          (𝑡ℎ𝑖𝑠  𝑚𝑒𝑎𝑛𝑠  𝑠𝑢𝑚  𝑜𝑓  𝑎𝑙𝑙  5  𝑉  𝑡𝑒𝑟𝑚𝑠  𝑓𝑟𝑜𝑚  𝑉!  𝑡𝑜  𝑉!  𝑖𝑠  165)  
!

!!!

 

 
 

𝑊𝑒  𝑘𝑛𝑜𝑤  𝑡ℎ𝑎𝑡  𝑉! = 𝑘,𝑉! = 2𝑘,𝑉! = 3𝑘,𝑉! = 4𝑘 
 
 
𝐹𝑜𝑟  𝑒𝑥𝑎𝑚𝑝𝑙𝑒: 𝐿𝑒𝑡!𝑠  𝑡𝑟𝑦  𝑉! = 𝑉!!! = 2𝑉! −   𝑉! = 2×  4𝑘 − 3𝑘 = 8𝑘 − 3𝑘 = 5𝑘 

 
∴   𝑉! = 5𝑘 

 
 
 
 

⇒ 𝑉!     = 165            
!

!!!

 

 
 

⇒ 𝑉!   +   𝑉! + 𝑉! + 𝑉! + 𝑉! = 165 
 
 

⇒ 𝑘 + 2𝑘 + 3𝑘 + 4𝑘 + 5𝑘 = 165 
 
 

⇒ 15𝑘 = 165 
 
 

⇒ 𝑘 =
165
15 =

33
3 = 11 
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Q5.  The equation 
 
 

𝑝 − 1 𝑥! + 4𝑥 + 𝑝 − 5 = 0,𝑤ℎ𝑒𝑟𝑒  𝑝  𝑖𝑠  𝑎  𝑐𝑜𝑛𝑠𝑡𝑎𝑛𝑡  ℎ𝑎𝑠  𝑛𝑜  𝑟𝑒𝑎𝑙  𝑟𝑜𝑜𝑡𝑠 
 
 
 
 
(a)    𝐹𝑜𝑟  𝑞𝑢𝑎𝑑𝑟𝑎𝑡𝑖𝑐  𝑒𝑞𝑢𝑎𝑡𝑖𝑜𝑛  𝑤𝑖𝑡ℎ  𝑛𝑜  𝑟𝑒𝑎𝑙  𝑟𝑜𝑜𝑡𝑠:        𝑏! − 4𝑎𝑐 < 0   

 
 

𝑎 = 𝑝 − 1                       𝑏 = 4                    𝑐 = (𝑝 − 5) 
 
 

                     ⇒ 4! − 4  ×   𝑝 − 1 × 𝑝 − 5 <   0 (Substitute a, b & c value into discriminant) 
 
 

                          ⇒ 16− (4× 𝑝! − 5𝑝 − 𝑝 + 5 ) <   0 (Multiply:   𝑝 − 1 𝑝 − 5 = (𝑝! − 5𝑝 − 𝑝 + 5)) 
 
 

⇒ 16− (4× 𝑝! − 6𝑝 + 5 ) <   0 
 
 

                      ⇒ 16− 4𝑝! − 24𝑝 + 20 <   0 (Expand the brackets) 
 
 

                                          ⇒ −4𝑝! + 24𝑝 − 4 <   0 (Divide by −1. Don’t forget to change inequality sign) 
 
 

⇒ 4𝑝! − 24𝑝 + 4 >   0 
 
 

⇒ 4(𝑝! − 6𝑝 + 1) >   0 (Divide by 4) 
 
 

⇒ 𝑝! − 6𝑝 + 1 >   0 
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(b)  

⇒ 𝑝! − 6𝑝 + 1 >   0 
 

⇒ 𝑝 − 3 ! − −3 ! + 1 >   0 
 

⇒ 𝑝 − 3 ! − 9+ 1 >   0 
 

⇒ 𝑝 − 3 ! − 8 >   0 
 

⇒ 𝑝 − 3 ! >   8 
 

⇒ 𝑝 − 3 > ± 8 
 

⇒ 𝑝 > ± 8+ 3 
 

⇒ 𝑝 > + 8+ 3            𝑜𝑟            𝑝 > − 8+ 3 
 

𝑊𝑒  𝑘𝑛𝑜𝑤  𝑡ℎ𝑎𝑡   9  𝑖𝑠  3, 𝑆𝑜   8  𝑤𝑖𝑙𝑙  ℎ𝑎𝑣𝑒  𝑎𝑛  𝑎𝑛𝑠𝑤𝑒𝑟  𝑙𝑒𝑠𝑠  𝑡ℎ𝑎𝑛  3 
 

∴ 𝑝 >   + 8+ 3  𝑤𝑖𝑙𝑙  𝑏𝑒  ℎ𝑎𝑣𝑒  𝑎  𝑝𝑜𝑠𝑖𝑡𝑖𝑣𝑒  𝑣𝑎𝑙𝑢𝑒  𝑐𝑙𝑜𝑠𝑒  𝑡𝑜  6       
 

∴   𝑝 >   − 8+ 3  𝑤𝑖𝑙𝑙  ℎ𝑎𝑣𝑒  𝑎  𝑝𝑜𝑠𝑖𝑡𝑖𝑣𝑒  𝑣𝑎𝑙𝑢𝑒  𝑐𝑙𝑜𝑠𝑒  𝑡𝑜  0 
 
 
Plot the graph of 𝑝! − 6𝑝 + 1 >   0:  
 
The coefficient of 𝑝!is positive; hence shape of the curve is cup-up. ∪ 
The minimum point on the curve is (3, -8).  
The two 𝑥 values where the curve crosses the 𝑥-axis are − 8+ 3  &  + 8+ 3.  
 

Graph shows that the set of values of x for which 𝑝! − 6𝑝 + 1 >   0  are 
 𝑝 >   + 8+ 3  𝑎𝑛𝑑   𝑝 <   − 8+ 3. 
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Q6 (a)        
 
 
 
 
   

  𝑦 =   
𝑥! + 4 (𝑥 − 3)

(2𝑥)  

 

⇒ 𝑦 =   
(𝑥! − 3𝑥! + 4𝑥 − 12)

2𝑥  
 
 

⇒ 𝑦 =
𝑥!

2𝑥 −
3𝑥!

2𝑥 +
4𝑥
2𝑥 −

12
2𝑥 

 
 

⇒ 𝑦 =
𝑥!

2 −
3𝑥
2 + 2− 6𝑥!! 

 
 

⇒
𝑑𝑦
𝑑𝑥 =

1
2   ×  2×  𝑥

!!! −
3
2− 6×  −1  ×  𝑥

!!!! 
 

⇒
𝑑𝑦
𝑑𝑥 = 𝑥 −

3
2+ 6𝑥

!! 
 

⇒
𝑑𝑦
𝑑𝑥 = 𝑥 −

3
2+

6
𝑥! 
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(b)       

⇒
𝑑𝑦
𝑑𝑥 = 𝑥 −

3
2+

6
𝑥! 

 
𝑆𝑡𝑒𝑝  1 ∶   𝑔𝑟𝑎𝑑𝑖𝑒𝑛𝑡  𝑎𝑡  𝑥 =   −1       

 

⇒   
𝑑𝑦
𝑑𝑥 = −1−

3
2+

6
−1 !   

 

⇒   
𝑑𝑦
𝑑𝑥 = −1−

3
2+ 6 

 

⇒   
𝑑𝑦
𝑑𝑥 = −1− 1.5+ 6 

 

⇒   
𝑑𝑦
𝑑𝑥 = −2.5+ 6 

 

⇒   
𝑑𝑦
𝑑𝑥 = 3.5  𝑜𝑟

7
2 

 
 

𝑆𝑡𝑒𝑝  2 ∶   𝐹𝑖𝑛𝑑  𝑦  𝑣𝑎𝑙𝑢𝑒  𝑎𝑡  𝑥 =   −1   
 
 

𝑦 =   
𝑥! + 4 (𝑥 − 3)

(2𝑥)  

 

⇒ 𝑦 =   
−1! + 4 (−1− 3)

(2×  −1)  

 

⇒ 𝑦 =   
5 (−4)
(−2)  

 

⇒ 𝑦 =   
−20
−2  

 
⇒ 𝑦 =   10 

 
𝑆𝑡𝑒𝑝  3 ∶   𝐹𝑖𝑛𝑑  𝑡ℎ𝑒  𝑒𝑞𝑢𝑎𝑡𝑖𝑜𝑛  𝑜𝑓  𝑡ℎ𝑒  𝑙𝑖𝑛𝑒 

 
 

⇒ 𝑦 − 𝑦! = 𝑚(𝑥 − 𝑥!) 
 

⇒ 𝑦 − 10 =
7
2 (𝑥 − −1 ) 

 

⇒ 𝑦 − 10 =
7
2 (𝑥 + 1) 
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⇒ 2(𝑦 − 10) = 7(𝑥 + 1) 

 
⇒ 2𝑦 − 20 = 7𝑥 + 7 

 
⇒ 2𝑦 − 7𝑥 − 27 = 0 
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Q7. (a)      

𝐺𝑖𝑣𝑒𝑛  𝑡ℎ𝑎𝑡  𝑦 = 2! 
 

⇒ 4! = 2! ! = 2!! = 2! ! = 𝑦! 
 
 
 
 
(b) 𝑆𝑜𝑙𝑣𝑒 

8 4! −   9 2! +   1 = 0 
 
Since 4! = 𝑦!  𝑎𝑛𝑑  2! = 𝑦:          
 

⇒ 8 𝑦! −   9 𝑦 +   1 = 0 
 

⇒ 8𝑦! − 9𝑦 + 1 = 0 
 

⇒ 8𝑦! − 8𝑦 − 𝑦 + 1 = 0 
 

⇒ 8𝑦(𝑦 − 1)− 1(𝑦 − 1) = 0 
 

⇒ 8𝑦 − 1 𝑦 − 1 = 0 
 

⇒ 8𝑦 − 1 = 0          𝑜𝑟          𝑦 − 1 = 0 
 

⇒ 𝑦 =
1
8           𝑜𝑟          𝑦 = 1 

 
 
Since y = 2!;  

⇒ 2! =
1
8 

 
⇒ 2! = 2!! 

 
∴ 𝑥 =   −3   

 
 

⇒ 2! = 1 
 

⇒ 2! = 2! 
 

∴ 𝑥 =   0 
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Q8. (a)                   

𝐹𝑎𝑐𝑡𝑜𝑟𝑖𝑠𝑒  9𝑥 − 4𝑥! 
 

⇒ 𝑥(9− 4𝑥!) 
 

⇒ 𝑥(3! − 2𝑥 !) 
 

⇒ (𝑥)(3− 2𝑥)(3+ 2𝑥) 
 
(b) Sketch the curve of   9𝑥 − 4𝑥!.  
 

𝐹𝑖𝑛𝑑  𝑡ℎ𝑒  𝑥 − 𝑐𝑜𝑟𝑟𝑑𝑖𝑛𝑎𝑡𝑒𝑠  𝑤ℎ𝑒𝑟𝑒  𝑡ℎ𝑒  𝑐𝑢𝑟𝑣𝑒  𝑐𝑟𝑜𝑠𝑠𝑒𝑠  𝑡ℎ𝑒  𝑥 − 𝑎𝑥𝑖𝑠 
 

⇒ 𝑦 = 𝑥 3− 2𝑥 3+ 2𝑥 = 9𝑥 − 4𝑥!   
 
y = 0 where the curve crosses the x – axis, hence  
 
 

⇒ 0 = 𝑥 3− 2𝑥 3+ 2𝑥  
 

⇒ 0 = 𝑥  𝑜𝑟  3− 2𝑥 = 0  𝑜𝑟  3+ 2𝑥 = 0 
 

⇒ 𝑥 = 0  𝑜𝑟  𝑥 =
3
2   𝑜𝑟  𝑥 = −

3
2 

 
Since the coefficient of 𝑥!is - 4 (a negative number), the curve has the following shape:  
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(c) Point A has x-coordinate -2 and point B has x-coordinate 1.  
 
 
 

𝐹𝑖𝑛𝑑  𝑡ℎ𝑒  𝑦 − 𝑐𝑜𝑟𝑟𝑑𝑖𝑛𝑎𝑡𝑒𝑠  𝑤ℎ𝑒𝑛  𝑥 =   −2  𝑎𝑛𝑑  𝑥 = 1 
 

𝑦 = 9𝑥 − 4𝑥! 
 

⇒ 𝑦 = 9 −2 − 4 −2 !              𝑜𝑟            𝑦 = 9(1)− 4(1)! 
 
 

⇒ 𝑦 = −18+ 32              𝑜𝑟            𝑦 = 9− 4 
 

⇒ 𝑦 = 14              𝑜𝑟            𝑦 = 5 
 
 
 

𝑷𝒐𝒊𝒏𝒕  𝑨   −𝟐,𝟏𝟒 𝒂𝒏𝒅  𝑷𝒐𝒊𝒏𝒕  𝑩 (1,5) 
 

𝐷𝑖𝑠𝑡𝑎𝑛𝑐𝑒  𝐴𝐵 =    5 − 14 ! + 1 − −2
!
=    −9 ! + 9 = 81 + 9 = 90 =    10  ×   9 =   3√10 

 
 
 

AB = 3 10                and                  k = 3 
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Q. 9. (a)     

𝐹𝑖𝑟𝑠𝑡  𝑡𝑒𝑟𝑚       =   𝑈! = £17,000 
 

𝑆𝑒𝑐𝑜𝑛𝑑  𝑡𝑒𝑟𝑚 =   𝑈! = £18,500 
 

𝑇ℎ𝑖𝑟𝑑  𝑡𝑒𝑟𝑚     =   𝑈! = £20,000 
 

𝑛𝑡ℎ  𝑡𝑒𝑟𝑚             =   𝑈! = £32,000 
 

𝑑𝑖𝑓𝑓𝑒𝑟𝑒𝑛𝑐𝑒  𝑏𝑒𝑡𝑤𝑒𝑒𝑛  𝑠𝑢𝑐𝑒𝑠𝑠𝑖𝑣𝑒  𝑡𝑒𝑟𝑚𝑠  (𝑑) = £18500− £17000 = £1500 
 
 

𝑛𝑡ℎ  𝑡𝑒𝑟𝑚 =   𝑈! = 𝑎 + 𝑛 − 1 𝑑 =   £32,000 
 
 

  𝑈! ⇒ 17000+ 𝑛 − 1 1500 =   £32,000 
 
 

⇒ 17000+ 1500𝑛 − 1500 =   £32,000 
 

⇒ 1500𝑛 + 15500 =   £32,000 
 

⇒ 1500𝑛 = 16500 
 

𝑛 =
16500
1500 = 11 

 
 
(b)      Step1: Find the total sum of the salary for the first 11 years that form the arithmetic series.  
 

𝑆! =
𝑛
2 (2𝑎 + 𝑛 − 1 𝑑) 

 

𝑆! =
11
2 (2(17000)+ 11− 1 1500) 

 
 

𝑆! =
11
2 (34000+ 15000) 

 
 

𝑆! =
11
2 (49000) 

 
 
𝑆! =

11×49×1000
2

= (10×49 + 49 ×
1000
2

= 490 + 49 ×
1000
2

=
539
2
×1000 = 269.5  ×1000 = 𝟐𝟔𝟗𝟓𝟎𝟎 
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Step 2: Find the sum of the salary for the remaining 9 years. From 11th year onwards the salary stays 
constant at £32000 per annum.   
 

9  ×32000 = 32  ×9  ×1000 = 288000   
 
 

𝑇𝑜𝑡𝑎𝑙  𝑠𝑢𝑚  𝑒𝑎𝑟𝑛𝑒𝑑  𝑖𝑛  20  𝑦𝑒𝑎𝑟𝑠 = 269500 + 288000 = £557500 
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Q10. (a) 

  𝑓′ 𝑥 =   
3 𝑥
2 −

9
4 𝑥

+ 2   

 
3 𝑥
2 −

9
4 𝑥

+ 2  𝑑𝑥 

 
 

3 𝑥
2 −

9
4 𝑥

+ 2  𝑑𝑥 

 
3
2 𝑥

!
! −

9
4 𝑥

!!! + 2  𝑑𝑥 

 

⇒ (
3
2÷

3
2)×𝑥

!
!!! − (

9
4÷

1
2)×𝑥

!!!!! + 2𝑥 + 𝐶   
 

⇒ f x =   x
!
! −

9
2 x

!
! + 2x+ C 

 
 
Given the point (4,9) lies on the curve,  
 
 
 

⇒ 9 = 4
!
! −

9
2 (4)

!
! + 2(4)+ 𝐶 

 
⇒ 9 =   8− 9+ 8+ 𝐶 

 
⇒ 9 =   7+ 𝐶 

 
⇒ 9− 7 =   𝐶 

 
⇒ 2 = 𝐶 

 
 
 

⇒ f x =   x
!
! −

9
2
x
!
! + 2x + 2 
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(b)     Step 1: Find the gradient of the tangent  
 

𝑁𝑜𝑟𝑚𝑎𝑙  𝑡𝑜  𝑡ℎ𝑒  𝑐𝑢𝑟𝑣𝑒  𝑎𝑡  𝑃 ⇒ 2𝑦 + 𝑥 = 0 
 

⇒ 𝑦 = −
𝑥
2                 ∴       𝑔𝑟𝑎𝑑𝑖𝑒𝑛𝑡  𝑜𝑓  𝑛𝑜𝑟𝑚𝑎𝑙  (𝑚′) =   −

1
2 

 
 

𝑔𝑟𝑎𝑑𝑖𝑒𝑛𝑡  𝑜𝑓  𝑡𝑎𝑛𝑔𝑒𝑛𝑡:    𝑚 =   2 
 

Step 2: Find the x-value of the tangent on the curve giving the gradient 2 
 

𝑓′ 𝑥 =   
3 𝑥
2 −

9
4 𝑥

+ 2 

 

⇒ 2 =   
3 𝑥
2 −

9
4 𝑥

+ 2 

 

⇒ 0 =   
3 𝑥
2 −

9
4 𝑥

 

 
(Multiply both sides by 4 𝑥) 

 

⇒ 0  ×4 𝑥 = (
3 𝑥
2 )4 𝑥 −

9
4 𝑥

4 𝑥 

 

⇒ 0 =
12𝑥
2 − 9 

 
⇒ 9 = 6𝑥 

 

⇒
3
2 = 𝑥 

 
 
 

 

End of mark scheme 
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